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Lunch at Anne’s

Problem solving puzzles! Read through the information that you are
given and, by picking out the important details, see if you can find the

answers.

Mr Matthews took his three children to have lunch at Anne’s Diner.

Ellie, who is eleven years old, had a hot dog and chips meal, which had a
menu price of £4.50. Mr Matthews had a double bacon and cheese burger,

which cost £2.00 more. Catherine, age six, and Louis, age nine, both had a

children’s cheeseburger meal. Each of them also ordered a drink that cost

£1.10.

When Mr Matthews paid the bill, it cost £25. /

W How much was it for one children’s cheeseburger meal?
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MENU

Appetisers:

Garlic Bread ..... £1.20
Onion Rings..... £2.95
Buffalo Wings ... £3.00

Burgers:
Chicken Burger.... £6.40

Empire State ..... £5.90

Double Bacon and
Cheese ............... £6.50

Hot Dog Meal ...... £4.50

Sides:

Chips ..... £2.20
Coleslaw..... £0.99

Drinks:
Coke/Lemonade...£1.10
Milkshake............ £3.00
Desserts:

Chocolate Brownie...£2.99
Vanilla Sundae .... £4.00
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Looking at the menu from Anne’s Diner, see if you
can answer the following questions:

What costs more: a hot dog meal or a chicken burger?

How much more?

Ed orders onion rings, chips and a milkshake. How much does he
spend?

Mick spends £7.00 by buying a burger and a drink. What did he
order?

//
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Answers:

Each children’s cheeseburger meal = £4.80
A chicken burger costs more, by £1.90.
Ed spends £8.15.

Mick bought the Empire State burger and either a lemonade or coke.
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